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QUESTION 1

Your Customer has implemented Oracle Cloud Manufacturing and the Manufacturing user is in the 

process of defining Work Definition and Operations. However, this user is unable to assign an ad hoc item, 

Grease, to an operation. 

Identify the reason. 

A. The user doesn\\'t have Override Item Structure Components in the Work Definition privileges. 

B. An item cannot be assigned on an ad hoc basis. 

C. The user doesn\\'t have access to the PIM module. 

D. The user doesn\\'t have Data access to create item structure. 

Correct Answer: B 

 

QUESTION 2

The Cost Accountant has reported to the Production Supervisor that the Work Order transactions are not 

getting transferred to Costing. 

Identify the reason for work order transactions not getting transferred to Costing. 

A. The Manage Item Rules setup is not complete. 

B. The Costing Interfaced Attribute is enabled in the resource definition. 

C. The item was made inactive after the Work Order transaction. 

D. The Costing Interfaced Attribute is not enabled in the resource definition. 

Correct Answer: D 

 

QUESTION 3

Planning Central has collected manufacturing data for a Work Order WO-2045 (Make Item AS1000), where actual
duration of work order is 2 days. Item AS1000 manufacturing lead time is 1.25 days. A plan is run and the Work Order
WO-2045 is rescheduled. Identify the duration of the rescheduled Work Order WO- 2045. 

A. Rescheduled Work Order WO-2045 duration = 2 days 

B. Rescheduled Work Order WO-2045 duration = 1.25 days 

C. Rescheduled Work Order WO-2045 duration = 3.25days 

D. Rescheduled Work Order WO-2045 duration = 0.75 days 
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Correct Answer: D 

 

QUESTION 4

You can generate and manage work order exceptions in Oracle Manufacturing Cloud. Which users can report
production exception and who gets notified after an exception is raised? 

A. The Production Operator can report and exception and the application generates a notification that is 

sent to all users who have access to the manufacturing plant. 

B. The Production Operator can report an exception and the application generates a notification that is sent to all users
with the role of production supervisor who have access to the manufacturing plant. 

C. The Production Operator or Manufacturing Engineer can report an exception and notifies the production supervisor
using Oracle Social Network since there is no system generated notification. 

D. The Production Operator can report an exception and notifies the production supervisor using Oracle Social Network
since there is no system-generated notification. 

Correct Answer: B 

 

QUESTION 5

Your customer has defined the work definitions. They have created and saved a new version for the work definition and
want to edit that work definition. Which two attributes cannot be updated using the Edit Work Definition Details action? 

A. State Date 

B. Costing Priority 

C. Version 

D. Production Priority 

Correct Answer: AC  

Latest 1Z0-1075-20 Dumps 1Z0-1075-20 VCE Dumps 1Z0-1075-20 Study Guide

Powered by TCPDF (www.tcpdf.org)

Latest 1Z0-1075-20 Dumps | 1Z0-1075-20 VCE Dumps | 1Z0-1075-20 Study Guide                                3 / 3

https://www.pass4itsure.com/1z0-1075-20.html
https://www.pass4itsure.com/1z0-1075-20.html
https://www.pass4itsure.com/1z0-1075-20.html
http://www.tcpdf.org
https://www.pass4itsure.com/1z0-1075-20.html
https://www.pass4itsure.com/1z0-1075-20.html
https://www.pass4itsure.com/1z0-1075-20.html

